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Nov. 2023
ADVANCED COMPUTER NETWORKS

gogF A efiTaF € e dl s |

There are three sections A, B and C in the paper.

(i) @ TH 3T gEa 1 & a4 10 YT & Fer T | TEF W T 3 B T

G} 10 97T FGAB FHR & T & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) Jawr & & 8 g 7 8 el 6 FeA & IR AT | I T 3 37 HE T

g7 5 T%/50 FITl 4 IR G /
Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(v) QT 6 TN 4 4 [hel 4 uva) & FT AT | IAF T97 8 b H 8 TG

v)

57T 15 T5/150 1sg] 3 IR G118 |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

TRie QT & G I 1 FHAR T G1Y 5 Hilrd |

Solve all the questions of a section consecutively together.

(vi) Y TTaT 7 o 51 1 IRt B St Sare # A E

Only English version is valid in case of difference in both the languages.

YAE —-T
SECTION - A
ST AR B ek 3 1T IGMP SURINT T

(a) fercifera sfefsmen worffe (b) Tereifera fcfsran o=

() fereifora wicfsean qwmem (d) Treifera wfafsran demd
To prevent unnecessary traffic, IGMP uses a

(a) delayed response strategy (b) delayed response station
(c) delayed response solution (d) delayed response signal
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(i) TH IGMP T, Teh T Th T W ST # |
(a)  host, host (b) host, router
(c) router, host AT router (d) 3IWi H ¥ HIs T
An IGMP query is sent from a to a
(a) host, host (b) host, router
(c) router, host or router (d) None of the above

(i) e (VSAT) w1 quam 2
(a) Vertical Satellite Augmented Time
(b) Vertical Satellite Augmented Terminal
(¢) Very Small Aperture Terminal
(d) Very Small Augmented Time
Full name of VSAT is
(a) Vertical Satellite Augmented Time
(b) Vertical Satellite Augmented Terminal
(¢) Very Small Aperture Terminal
(d) Very Small Augmented Time

(iv) <3HR SITErR % foTu 3w femer STTaT 2 |

(a) LAN (b) MAN
(¢) WAN (d PAN
WiMAX is mostly used for :
(a) LAN (b) MAN
(c) WAN (d) PAN
(v) SNMP T M % fore fomiier 2 |
(a) ST ST HeH (b) TTHISS Hew
(c) e eI Haw (d) ST H W HIS 7
SNMP is responsible for creating a message.
(@)  Get request message (b) Encoded message
(¢)  Senders display message (d) None of the above
(vi) YU SR SRS S R e ohT 39T foRaT T € |
(a) Radius (b) VPN
(¢) Proxy (d) DNS
server is used to create a secure terminal connection.
(a) Radius (b) VPN
(c) Proxy : (d) DNS
(vii) 11 5 @ % a1 ey 3t 61 9oft @ TeRa i 8 ¢
(a) g It BT (b) I A
(c) <A Be (d) rel 3t de
Which of the following options does not belong to the category of Hacker ?
(a) White Hat Hacker (b) Grey Hat Hacker

(¢) Red Hat Hacker (d) Black Hat Hacker
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(viii) Tt & @ 1 3mE ot vl <Y Uk e TRl @ 7
Which one of the following is not a class of IP address ?
(a) ClassA (b) ClassF
(c) ClassE (d) ClassB

(x) FEAdISNAIE NS TTTBFIRATI & ?

(a) Network bit — 14, Host bit— 16 (b) Network bit — 18, Host bit — 16
(c) Network bit — 16, Host bit— 14 (d) Network bit — 12, Host bit — 14

Which of the following is correct regarding class B of IP address :

(a) Network bit — 14, Host bit— 16 (b) Network bit — 18, Host bit — 16
(c) Network bit— 16, Host bit— 14 (d) Network bit — 12, Host bit — 14

(a) TSR IUrE (b) HaT e

(c) T AT (d) T HET

QoS stands for :

(a) Quality of Software (b) Quality of Service
(¢) Quantity of Software (d) Quantity of Service

Qo —
SECTION - B
erRTe Tqfth w1 iy iR |

Define protocol spoofing.

3 = ot yare veue 6 sre Hif |

Explain TCP flow management.

<f @ wm PRl @l wE § qEssy |
Explain GSM technology in short.

QoS = wig o fergrwamd feaRa |

Write any three features of QoS.

BRI 1 18 i fagisand fafaw |

Write any three features of Firewall.

el it e fmaeiet o ¥ A e |

Write names of any three network simulator tools.

3G T 4G 1 TR § g HIT |
Compare 3G and 4G in short.

ATM S HITUTE i H&id § Feise |
Explain working of ATM in short.
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JH — Gt
SECTION - C
$ITAE TNEIhIcT o TEhUT 6 bl TErd H IRUTd ol | U IR gRI 39 Johe dSor
ot g=TsT |

Briefly define version 6 of Internet protocol. Also explain its packet handler with
suitable diagram. )]

IUYRT IETEN gI g ot fearfe aebefient <ht Fereamiqeies s R |

Explain in detail, any two switching techniques using suitable examples. )]

TSR] JedfehTT & T qcqd 8 ? Jeaieh T St SNMP deheieh shi ST HIRT |

What does storage networking mean ? Explain the SNMP technique for network
monitoring. )

T} Fostt Seaeh 1 STauRen w5 GHEsy | STHTE st STk % Yl i off aHeEy |

Define the concept of virtual private networks. Also explain the types of virtual private
networks. ®

TIdehicT faveiSeh ST EId & ? TRIEITeh ol faR & TSy |

What are protocol analysers ? Explaﬁn wire-shark in detail. ®

o= 7 @ fopedl Qo wfreq feoaoft fafaw
(a) HIRE T=GE

(b) aTEhem

(c) SNMP

Write short notes on any two of following :
(a) Congestion Avoidance

(b) WiIMAX
(c) SNMP ®



